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Multiple Choice: Consider the below statements regardi... Points: 1

Question Consider the below statements regarding Artificial Intelligence:

(a) the study of mental faculties through computational models

(b) an attempt to make computers do tasks for which humans are considered intelligent
(c) intelligence but that is not genuine

(d) an attempt to find good solutions for computationally hard problems

Correct statements are?

Answer a,b only

c only

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&assess... 2/23
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daohyly

“aabbd dolyly

OMuddigyéeCQbiodtes Wiiahtkkinidod fGBagbhi ssussekdtooree... Foditas: {1
Question What kind of Graph is used to represent semantic network?
Answer Undirected graph
Directed Acyclic graph (DAG)
# Directed graph
Directed complete graph
OMaltigphée Qhivotee: Fpites: {1
Question A company is having 9 workers. In how many different ways we can create team of 5 workers?
Answer 132
4 126
84
72
OMutigyeeQblodces: | deenifiyythieei itooreet tssaaeeneanss :((... FRgites: {11
Question Identify the incorrect statements:
(a) Logistic Regression and SVM both have a hypercurve as a decision surface
(b) Logistic Regression is a linear model
(c) Logistic Regression can be used for regression problems
(d) Logistic regression can be designed using a neural network
Answer b,d
a,b,d
c only
4 ac
OMatipyteGbioocee: | daenifyyt hieei oo eet tstaAconeanssr egg... Fogites: {1
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Question Identify the incorrect statements regarding Bayesian Networks:

(a) Bayesian uses every available information to find the probability. This indicates that apart from
data, the method uses prior information as well.

(b) When there is a lack of parameters and facts, Bayesian quantify uncertainties using available
evidence.

(c) Bayesian machine learning is useful when there are fewer data available.

(d) Bayesian network uses joint probability distribution

Answer a,b,d

c only

b,c

% none of the above

OMdutitiée Ghlodiee: Flomugs
Question Reinforcement learning is a method, in which a learning agent gets a reward for each right action and gets a penalty for
each wrong action. The agent leamns automatically with these feedbacks and improves its performance

Answer " feedback based learning

supervised learning

unsupervised learning

either aor b

Poditgs: 11

OdudighpeeChlvdcee Wiiadtddesst hirediagy samdeepit P?Seedett. ...
Question What does the diagram depict? Select the most appropriate answer .

Labeled Data

Q Prediction Square
D Mo —> L

I’\ — ’
A Triangle
Model Training
Lables

() L] Test Data
Hexagon Square
Triangle

Answer " supervised learning

unsupervised learning

reinforcement learning

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&assess... 4/23



7/29/2020

Test Canvas: End Term — Introduction to Artificial ...

eititbenaoc C

CMaidigiydéeChindcee: " Weekiinowvt iz toou rddddal sscooree....

Question

Answer

g

Peoitds: 11

"We know that our data is correlated, but the relationship doesn’t

look linear".

Based on the above statement consider the below options:

Option A: Itis very difficult to fit a linear regression line in the

above graph with a low value of error.

Option B: we can try to use the polynomial regression to fit a

polynomial line so that we can achieve a minimum error or
minimum cost function.

4 Both option A and B are correct
Both option A and B are incorrect
Option A is wrong, Option B is right

Option A is right, Option B is wrong

Ml tigydéeChivdces : SBippossey Yot tyyt toseppasdect itsset twooctiasess VWi tcooiddblect ilee
coompbéextiyyod fypou rdéetssoonssuféaees : Stpppcseypaut tyyt toseppaaitet hiesset voo....

Question

Answer

e @
-
® ®
-- -
[]
- o o ®
= £ J £ 3 C
- ] Q
-- - - 0 ®
-
4}
-- - . - G
O E
[ ]
L
linear
cubic
exponential

4 None of the above

OvdddigppéeCDindcee : Gheefiitimgi sshizgpeannmgwhieennumiieer. ...

QQesstion

PRoitgs: 11

Suppose you try to separate these two classes. What could be the complexity of your decision surface?

PRoitds: 11

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&assess...
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Overfitting is happening when number of node is?

09 T T T T T T Y T T
0.85 | - 1
08 . 1
0.75 .
z
1]
g 07} .
- y
1 /
< /
0.65 4
06 On training data 1
On test data
055 .
05 : X . L L L : L :
0 10 20 30 {0 50 60 70 80 90 100

Size of tree (number of nodes)

Answer 5

30

Model is underfitting

CvdudinppéeClinotee . Comssicert Hee Hebow fligiress: &&...

Question Consider the below figures:
A X
s
Fig a Fig b
Answer Fig a is overfitting and Fig b is underfitting
- Fig a is underfitting and Fig b is overfitting
Fig a is appropriate fitting or generalized model and Fig b is overfitting
none
CMdurithdde Chloddee:

QQesston

Poings: 11

Plpitgs: 11
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Identify the correct statement.
{a) The primary objective of the selection operator is to emphasize the good solutions and eliminate the bad solutions in a population while keeping 2
the population size constant.
{b} A fitness function value guantifies the optimality of a solution. The value is used to rank a particular solution against all the other solutions
{c) The mutation operater is used to create new solutions from the existing solutions available in the mating pool after applying selection operator.
{d} Crossover is the occasional introduction of new features in to the solution strings of the population pool to maintain diversity in the population.
{2) The mutation probability is generally kept low for steady convergence.
Answer ab,cd
4 abe
d,e
b,d
i D ey p i Poditgs: 11
CduditpeeChlodcee | deenififyt biee hicoor eet tsshateneen tféor. ...
Question Identify the incorrect statement for GD(Gradient Descent) and SGD(Stochastic Gradient Descent):

1. In GD and SGD, you update a set of parameters in an iterative manner to minimize the
error function.

2. In SGD, you have to run through all the samples in your training set for a single update of
a parameter in each iteration.

3. In GD, you either use the entire data or a subset of training data to update a parameter in
eachiteration.

Answer only 1

1land 2
3 only

# 2and 3

OMdurditpde Chloddee: i$saat yypreod maativige. ... FRditgs: 11

Question is a type of machine learning method in which we provide sample labeled data
to the machine learning system in order to train it, and on that basis, it predicts the output.

Answer UnSupervised Learning

4 Supervised Learning

Artificial Intelligence

None of the above

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&assess... 7/23
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Mo Chinises: Bt $saiinexRanmbecos P2 FRglias: 11
Question Below is an example of?
Answer % Acyclic Neural network
Feed forward network
Fully connected Network
Layered Network
MMdtitydée Chivodee: PRgliss: 11
Question Two parent chromosomes in Order GA encoding scheme is given as follows:
L1 [ 2 [ 3 | 4 [ s | e [ 7z [ 8 | 9 [ 10|
[0 [ o | 8 [ 7 [ 6 [ s [ a [ 3 ] 2 [ 1]
A K — point is selected at 4th jgcation according to single point crossover technigue. Which
of the following off-spring is not possible?
[a)
[ 1 [ 2 [ 3 [ 4 [ s [ 8 |7 ] 6 |5 |
(b)
L 7 [ 8 [ o [0 [ | s | 4 [ 3 ] 2 |1 |
c)
[ w0 [ o | 8 [ 7 [ 1+ [ 2|3 [ af5s |6 |
Answer ab
c only
b,d
= all are possible
(OMldiipdéeChlodcee:WHicbhaamoorggt hieef ddlldovinggi sédacesoomee..... Feiitas: 11
QQestbon
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Which among the following is/are some of the assumptions made by the k-means algorithm (assuming
Euclidean distance measure)?

(a) Clusters are spherical in shape

(b) Clusters are of similar sizes

(c) Data points in one cluster are well separated from data points of other clusters
(d) There is no wide variation in density among the data points

Answer bc

be a straight line.

(b) In theory, a Gaussian kernel SVM can model any complex separating hyperplane.

(c¢) For every kernel function used in a SVM, one can obtain a equivalent closed form basis
expansion.

(d) Overfitting in an SVM is a function of number of support vectors.

Answer /] a,b,d

d only

a,b

OMdutigydeCBlodéee:| hnblodiddnnggaal iieear eegesssoonmmoaide.... Plofirs: 11

Question In building a linear regression model for a particular data set, you observe the coefficient
of one of the features having a relatively high negative value. This suggests that?

Answer This feature has a strong effect on the model (should be retained)
This feature does not have a strong effect on the model (should be ignored)
4 Itis not possible to comment on the importance of this feature without additional information

None of the above

CMdiditieCBlodtee: Coossiaert heehaabowsstatenaenss(4d)” M. . Pitts: 11
Quessitan ConsRidettibenbrinnssiaiaroatys:

(%) AdRY adgibamadtahfinotitnrcaarbbeddsijgeddisriggansatsihhseioddkagjgatihm
(NS arshhsetoiEsapseuniveesanbpproRikitaasmss

COMdutigpdée Chlvdiee: PRpitys: 11
Question Which of the following is/are true regarding an SVM?
(a) For two dimensional data points, the separating hyperplane learnt by a linear SVM will

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&assess... 9/23
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Answer Statement a is right and Statement b is wrong
Statement a is wrong and Statement b is right
4 Statement a is right and Statement b is the correct explanation for Statement a
Statement a is right but Statement b is the not the correct explanation for Statement a
OMGUditieeCBiottee Wit bhos fitleeppiissos fr aanidomyeariaiie. . Fioings: 11
Question Which of the pairs of random variables are independent?
|1_‘7A \/ B \
e (D '
LE )
Answer AB
C,D
E,D
4 None
CIMduiitideCBiotiee: THee“ThitgTERSY iSS. .. . /147 Fomings: 11
Question
The “Turing Test” is ...
Answer a test devised by Alan Turing to determine whether a secret code is breakable
a test to determine whether a Turing Machine will halt
2 atest of whether a machine is intelligent prescribed by Turing
none of the above
CIMduiditideCBiodiee Wit sS\aatitieel daaniing?ad) THecaal®.... Fomings: 11
Quessivon

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&assess...
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What is Machine learning?

a) The autonomous acquisition of knowledge through the use of computer programs
b) The autonomous acquisition of knowledge through the use of manual programs
¢) The selective acquisition of knowledge through the use of computer programs

d) The selective acquisition of knowledge through the use of manual programs

Answer ac

4 aonly

c only

b,d

CdutihidéeChlodcee:A) Ktnovidedgebaase(KEB )i sscommssssssods...

Question A) Knowledge base (KB) is consists of set of statements.
B) Inference is deriving a new sentence from the KB.
Choose the correct option.

Answer % Alstrue, B is true

Ais true, B is false

Ais false, B is false

Ais false, B is true

CvdudinppéeChindcee WHidthod fthleef bdlidoviningt éetimidgiesscean....

Pgitgs: 11

PRgitgs: 11

Question Which of the following techniques can be used for the purpose of keyword normalization, the

process of converting a keyword into its base form?

1. Lemmatization
2. Levenshtein
3. Stemming

4. Soundex

Answer 1,2

2 1,3

2,4

1,234

CMdudinpipéeChloddee Wizat $stiieer igdi too deberf do raatégx tetl....

Poitys: 11

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses...
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Question What is the right order for a text classification model components

1. Textcleaning

2. Textannotation
3. Gradientdescent
4. Model tuning

5. Textto predictors

Answer 12345
13425
# 12534
13452
OndudinpipdeChiodcee Wiitaati sshiaa&k pp oppaaitdor??/1*F/ddecu.... FRpitgs: 11
Question What is back propagation?
Answer

Itis another name given to the curvy function in the perceptron

Itis the transmission of error back through the network to adjust the inputs

4 |tis the transmission of error back through the network to allow weights to be adjusted so
that the network can learn

None of the mentioned

OndidinppéeChindiee: Ssemamnicc NeeivookKr eppessenss.... Fopitgs: 11
Question

Semantic Network represents

Answer Syntactic relation between concepts
2 Semantic relations between concepts (s)
All of the mentioned
None of the mentioned
CUwdudigipeeChindcee : Geapihuseedt dor eppessen tseemaanitCnieedwy... FRitgs: 11

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses...
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Question Graph used to represent semantic network is

Answer

Undirected graph

% Directed graph (s)

Directed Acyclic graph (DAG)

Directed complete graph

CMdudigdpeeChlodcee  TFamsshtdet beef ddlldovingg sstateneent. ...

PRwints: 11

Question Translate the following statement into FOL. “For every a, if a is a PhD student, then a has a

master degree”

Answer

Vv a PhD(a) -> Master(a) (s)

3 a PhD(a) -> Master(a)

A is true, B is true

A is false, B is false

COMdutipipeeChivdcee BRbbowaneet ileeSSaattiahvahliessod ftaag....

Question Below are the 8 actual values of target variable in the train file.
[0,0,0,1,1,1,1,1]

What is the entropy of the target variable?
Answer 5/8 log(5/8) + 3/8 log(3/8)
4 -(5/8log(5/8) + 3/8 10g(3/8))
3/8 log(5/8) + 5/8 log(3/8)

5/8 10g(3/8) — 3/8 log(5/8)

COdutithpéeCBlodcee: ThHieef fidddt bzt ivessiggatsst bizermeetiza..
QQessigan THaeefitddict tlaa i ivessitigatest ieenneetizanissod Houmaaninédiigecedss:

AlBsawger Y

Ppints: 11

Plwitgs: 11

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses...
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cognitive science (s)
history
psychology
. sociology
() Multiple Choice: A feature F1 can take certain value: ... Points: | 1
Question A feature F1 can take certain value: A, B, C, D, E, & F and represents grade of students
from acollege.
Which of the following statement is true in following case?
Answer Feature F1 is an example of nominal variable.
% Feature F1 is an example of ordinal variable.
It doesn’t belong to any of the above category.
It doesn’t belong to any of the above category.
(J Multiple Choice: What is Atrtificial intelligence... Points: | 1
Question What is Artificial intelligence?
Answer Putting your intelligence into Computer
# Making a Machine intelligent
Programming with your own intelligence
Playing a Game
(J Multiple Choice: Consider the following figure for ans... Points:| 1
Question

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses... 13/23
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class and greater than x will be predicted as negative class.

How many data points are misclassified in above image?

Answer

(J Multiple Choice: Suppose a life ...

Question

Answer

3131

% 140

3112

3125

(J Multiple Choice: Probabilty dens...
Question
Probabilty density functions are related to ------------------ variables
Answer

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses...

Consider the following figure for answering the next few questions. In the figure, X1 and X2 are
the two features and the data point is represented by dots (-1 is negative class and +1is a
positive class). And you first split the data based on feature X1(say splitting point is x11) which
is shown in the figure using vertical line. Every value less than x11 will be predicted as positive

Points: 1

Suppose a life insurance company sells a ¥240,000 one year term life insurance policy to a 25-year old female for ¥210. The
probability that the female survives the year is .999592. Find the expected value of this policy for the insurance company.

Points: 1

14/23
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Discrete

Continious
Random

Random

Continous

(J Multiple Choice: Significance of ‘inference’ in expert... Points: | 1

Question Significance of ‘'inference' in expert systems

Answer

Support

Extract

Analyze

Evaluate

(J Multiple Choice: Which intellige... Points: | 1
Question

Which intelligence is best

Answer

Atrtificial

Cognitive

Evolutionary

Ambient

(J Multiple Choice: You are given the following neural ne... Points: 1

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses... 15/23
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Question You are given the f_ollowinﬁ neural networks which take two binary valued inputs x1, x2 € 10, 1} and the
activation function is the threshold function(h(x) = 1 if x > 0; 0 otherwise). ich of the following logical
functions does it compute?

+8
- h(x)
Answer OR
4 AND
NAND
None of the above.
(J Multiple Choice: Which of the following statements is/... Points: | 1
Question Which of the following statements is/are true about Neural Networks?
(a) Neural Networks can model arbitrarily complex decision boundaries.
(b) Neural Networks can be used to emulate a Gaussian kernel SVM
(c) Training of a neural network is very sensitive to the initial weights.
(d) Ideal initialization for weights would be setting all of them to zeros
Answer AB
B,C
4 AB,C
AC
(J Multiple Choice: For a two-class classification proble... Points: | 1
Question

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses... 16/23
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For a two-class classification problem, we use an SVM classifier and obtain the following separating
hyperplane. We have marked 4 instances of the training data. ldentify the point which will have the most
impact on the shape of the boundary on it's removal.

< o>
= (@]
C Qo )
< ~1 =
3 g <> > <D

Answer %1

2

3

4
(J Multiple Choice: In building a linear regression model... Points:
Question In building a linear regression model for a particular data set, you observe the coefficient of one of the features

having a relatively high negative value. This suggests that

Answer This feature has a strong effect on the model (should be retained)
This feature does not have a strong effect on the model (should be ignored)
4 It is not possible to comment on the importance of this feature without additional information
None of the above
O Multiple Choice: What are Semantic Networks? /**/ do... Points:
Question What are Semantic Networks?
Answer % Away of representing knowledge
Data Structure
Data Type
None
(J Multiple Choice: Here is a popular toy graphical model... Points:
Question

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses...

1

1

1
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Here is a popular toy graphical model. It models the grades obtained by a student in a course and it's
implications. Difficulty represents the difficulty of the course and intelligence is an indicator of how intelligent
the student is, SAT represents the SAT scores of the student and Letter presents the event of the student
receiving a letter of recommendation from the faculty teaching the course.

" Difficulty ) (" Intelligence

Grade

Given this graphical model, which of the following statements are true?

(a) Given the grade, difficulty and letter are indpendent variables.

(b) Given grade, difficulty and intelligence are independent

(c) Without knowing any information, Difficulty and Intelligence are independent.
(d) Given the intelligence, SAT and grades are independent.

Answer AC
B,D

4 ACD

AB,C

(J Multiple Choice: Which of the following is an applicat... Points: { 1
Question Which of the following is an application of AI?
Answer Gaming
Expert Systems
Vision Systems
2 All of the above
(J Multiple Choice: Neural Networks are complex Points: {1
Question Neural Networks are complex _ with many parameters.
Answer

# Linear Functions

Nonlinear Functions

Discrete Functions

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses... 18/23
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Exponential Functions

models.

Which of the following statements are not true for weak learners used in ensemble
model?

1. They don’t usually overfit.
2. They have high bias, so they cannot solve complex learning problems
3. They usually overfit.

Answer 1and 2

# 3only

2and3

None of the above

(J Multiple Choice: Let’s say, you are using activa... Points:

https://learn.upes.ac.in/webapps/assessment/do/content/assessment?action=MODIFY&course_id=_35308_1&content_id=_1739754_1&asses...

() Multiple Choice: What are the input and output of an N... Points:
Question What are the input and output of an NLP system?
Answer Speech and noise
4 Speech and Written Text
Noise and Written Text
Noise and value
(J Multiple Choice: Which of the following is not the typ... points:
Question Which of the following is not the type of AI?
Answer Reactive machines
2 Unlimited memory
Theory of mind
Self-awareness
() Multiple Choice: In ensemble learning, you aggregate t... Points:
Question In ensemble learning, you aggregate the predictions for weak learners, so that an

ensemble of these models will give a better prediction than prediction of individual

1

1

1

1

19/23
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Question Let’s say, you are using activation function X in hidden layers of neural network. At a
particular neuron for any given input, you get the output as “-0.0001”. Which of the
following activation function could X represent?

Answer RelU

4 tanh
SIGMOID
can't say
(J Multiple Choice: For which of the following hype... Points: | 1
Question For which of the following hyperparameters, higher value is better for decision tree
algorithm?
1. Number of samples used for split
2. Depth of tree
3. Samples for leaf
Answer 1.2
3 only
2 only
4 can't say
(J Multiple Choice: Which of the following is a good test... Points: | 1
Question Which of the following is a good test dataset characteristic?
Answer Large enough to yield meaningful results
Is representative of the dataset as a whole
<+ Both Aand B
None of the above
(J Multiple Choice: Identify the correct statements: a) ... Points: | 1

Question Identify the correct statements:

a) If small changes in the genotypes of individuals are expressed easily, especially in small populations, we
speak of genetic drift

b) Mitosis is copying the same genetic information to new offspring: there is no exchange of information

c) Individual - Blueprint for an individual

d) Chromosome - Any possible solution
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Answer ab,d

4 ab

c,d

none

() Multiple Choice: ntify the incorrect stae: Identify the correct statements: a) ... Points: | 1

Question Identify the correct statements:

a) In roulette wheel selection, individuals are given a probability of being selected that is directly proportionate
to their fitness.

b) There is a chance that the chromosomes of the two parents are randomly recombined (crossover) to form
offspring

¢) Mutation restores lost information to the population Generating new offspring from single parent

Answer ac

a,b

c only

4 a,b,c

(J Multiple Choice: "Pheromone trails" is related to? /*... Points: | 1
Question "Pheromone trails" is related to?
Answer Travelling Salesman Problem
2 Ant colony optimisation
Natural language processing
Neural networks
() Multiple Choice: Some application of Ant colony optimi... Points: [ 1
Question Some application of Ant colony optimisation are:
Answer Set partition problem: Deciding whether a given multiset of positive integers can be partitioned into two

subsets A and B such that the sum of the numbers in A equals the sum of the numbers in B.

Data Mining: The computational process of discovering patterns in large data sets.

4 Bothaandb

none
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() Multiple Choice: Identify the incorrect statements: a... Points: | 1
Question Identify the incorrect statements:
a) Linear Logistic Regression is always better than Linear SVM
b) SVM may have a decision surface other than a hyperplane if used kernel function
c) Time complexity of K-NN and K-Means over the same dataset will always be same
d) A single node decision tree or which is known as a "Stump Tree" will always underfit
e) If there is overfitting in your dataset better to reduce your dataset by half
Answer acde
a,b,e
c,d
4 ab,.c,e
(J Multiple Choice: Identify the incorrect statements: a... Points: | 1
Question Identify the incorrect statements:
a) We need a very high processing power to run deep learning algorithms along with a huge dataset
b) A single perceptron is nothing but a linear classifier
c) As we go on increasing the length of a decision tree, chances of overfitting incereases
d) Support vecors in a SVM are the datapoints lying on the margins
Answer a only
a,c
b only
4 none
(J Multiple Choice: Ways to perform... Points: | 1
Question
Ways to perform resolution
Answer
Algorithm
Heuristics
Uniformity
4 All the above
Select: All None | Select by Type: \ - Question Type - v ‘
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